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Calculators with simple arithmetic furictions are allowed. .
Statistical tables will be prc;vided'.
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1. (4) What 1s rln‘lll'hyp;thcsis ‘;_Explain Type I and Type 11 errors in hypothesis testing. 2+3
: g - ” .
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Compare and contra.st. ¢ and z in hypothesis testing..
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What is estimated standard error of the mean ? Discuss its utility in inferential
statistics.” . o 2+3

Or

~ What do you understand by p valués ? How is it different from a " 3+2

A leadmg car is advertised as obtammg 18.6 km per litre (estimated hlghway mileage)

wnh a standard deviation of 3.7. A competitor doubts their claim and tests a sample
of 25 cars under highway conditions with a mean of 17.5 km per litre. Do these results
cast 'doubt on the advertised claim ? Set hp H, and HIA (non-directional). Calculate z

and tesl the hypothes:s at a = .05; and draw final conclusions. . 5
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(@) What are the assumptions about the difference between two indcpcndeﬁt means ? How
does testing of hypothesis about two independent means differ from testing of hypqthesis
- about two dependent means ? | . - B ‘. ' 342
. | a.

'Discuss- the phoéertics of s;mplinlg'distribution of the difference between two
means. . ' ) T ) o 5

(by Gi'\.re the'following data: - |

Cz;tegory A 170 SS, = 824 n, = 74

91

fl

" Category B: - 178 SSg = 980 ng

' Sét up the null and alternate hypotheses'(non-direlctionél);_ ‘berform the r-test for

‘independent samples (o = .01); and draw final conclusions. ' 5

(¢) Tvirehty five individuals are tested before and after a 60un§cling session. The following

are the adjustment scores obtained before and after the session. lf r = +0.70 and

n =_25,. evaluate ¢ at o = .01';.and draw final conclusions. 5
X | Y
Mean ‘ Sx Mean S\-,_
' _' - 50 30 44 40
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List the assumptions for using one-way analysis of \_ranance For each issumptidn, explain
the impact of violation of the assumption. .~ 342

o -

- -

‘Why does the region of rejection lie only in the upper tail of F ? -
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(b) There the three subjccts in.each of the three treatment groups.” The scores are

" known below. Exprcss Hy and-Hy; Calculate the F ratio; and: draw final- conclus;ons' o

(a0 = .05). - ' 10,
" Scores of 9 subjeci_s_ in three different

* treatment groups -

"Gro.upA ... GroupB - Grollip.'C
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(@) What is Chi-square ? State the assumpﬁons in the use of the theoretical distribution of
Chi-square. : ' _ | _ 243
V- r ’ .
Or
- ‘b
. When are non-parametric tests used ? Discuss the applications of any nro assumption
. free tests. ' ' | = | 342
(b) 1000 girls in a college were rated on their 1Q apd attractiveness :
LowlQ-  HighIQ
" High attractiveness 10 30
Low attraétivéness 35 | . 25
State the null hypothesis of indepedence for this situation. Use Chi-square (%2) test
(a = .01) to find out whether there is any association between 1Q of girls and
attractiveness. e _ _ 10-
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What will be the value of z'if 2 =9 2 - e - 2
What is the relationship between F-ratio and r ?° - .2
Why does the region of rejection always appears in the upper tail of the sampling

distribution of Chi-square ? ' o o 2

What will be the degrees of freedom for two-sample means when #n, = 12 and

' = ?
n, = 14 7 | 2
Is it_'possible to retain Hy at @ = .05 but reject it at o = .01 ? Explain. 2

What are the sources of variation that can contribute to the estimate of between-groups

population variance in one-way ANOVA. . 2

What is SPSS ? Discuss the uses of SPSS. | 3
| " PTO.
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